§10-3 Polar Coordinates
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Examplel: 6= % means a straight line.

Solution :
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Example 2 : » =1 means a circle.

Solution :

II. Symmetry
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Example 3 : Sketch » =2cos46

Solution :
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III. Tangents to Polar Curves
Polar Curve : r=£(60)

Its corresponding parametric equation : x = f(8)cos6, y = f(6)siné.
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do

Slope of the tangent :

B2+ B2R* K8 B &k



Remark :
. : . . dy
1. Horizontal tangents : points at which 20 =0.
. . . . dx
il. Vertical tangents : points at which 20 =0.

Example 4 :

1. Sketch =1 + sind.

. . . d
il. Find 2
x|,
3
1il. Find the points on the curve r = 1 + sind where the tangent line is

horizontal or vertical.

Solution :
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i, Y cos@(+2sing)=0= =X 3% 7 T
e 2276 6
& 4 sinO)1-2sing) = 0 = %, 7
do 2766
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